
1) 48% of 58

Answer: ____________

2) Solve 11x2 + 2x - 1 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

3)
128

10 /14

Answer: ____________

4) Find the mode of the following set of data:

41, 41, 41, 41, 41, 5, 5, 5, 45, 45, 
45, 49, 49, 49, 49, 49, 24, 24, 24, 
24, 24, 24

Answer: ____________

5) Find the mode of the following set of data:

41, 41, 41, 41, 41, 5, 5, 5, 45, 45, 
45, 49, 49, 49, 49, 49, 24, 24, 24, 
24, 24, 24

Answer: ____________

6)
17  Find Volume of 
               16       Cylinder 

Answer: ____________

7) Round 6.729803 to 5 decimal places.

Answer: ____________

8)
Find the next three numbers in 
the sequence
32,30,120,118,472,470,1880__,__,__

Answer: ____________

9) 18/3 x 17/8

Answer: ____________

10) Write 10 x 105 as a normal number.

Answer: ____________

11) Increase 10 by 40%

Answer: ____________

12)
17  Find Volume of 
               14       Cylinder 

Answer: ____________

13)
13  Find Volume of 
                         Hexagonal Pyramid 

13
13

Answer: ____________

14)
13  Find Volume of 
                         Hexagonal Pyramid 

13
13

Answer: ____________

15) 177.48 ÷ 11.6

Answer: ____________
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16) (6 x 26) x (1 x 55)

Answer: ____________

17) 5 x 10

Answer: ____________

18) Write 10 x 105 as a normal number.

Answer: ____________

19) Round 27.75953663 to 4 decimal 
places.

Answer: ____________

20) Find the mode of the following set of data:

29, 29, 3, 3, 44, 44

Answer: ____________

21) Find the mode of the following set of data:

29, 29, 3, 3, 44, 44

Answer: ____________

22) Find area of square 
having each side (s)
equals 95 in

Answer: ____________

23) Find the mode of the following set of data:

8, 8, 17, 17, 39, 39

Answer: ____________

24) A number is chosen at random from 
1 to 25. Find the probability of 
selecting divisors of 9.

Answer: ____________

25) Factorise 8d2 + 13d + 5

Answer: ____________

26) Simplify 20:18

Answer: ____________

27) Solve 20d2 + 10d - 18 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

28) 111 / 117

114

Answer: ____________

29) 08:19 am To 11:48 am

Answer: ____________

30)
9

4 /8

Answer: ____________
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31) Find area of 
rectangle having 
sides a = 93 ft 
and b = 67 ft

Answer: ____________

32) Find area of 
rectangle having 
sides a = 93 ft 
and b = 67 ft

Answer: ____________

33) 1/22 of 198

Answer: ____________

34) 8/
3 ÷ 8/4

Answer: ____________

35) Find area of 
rectangle having 
sides a = 89 in 
and b = 48 in

Answer: ____________

36) (8 x 66) + (3 x 26)

Answer: ____________

37) Round 9.213560 to 4 decimal places.

Answer: ____________

38) 56/9 ÷ 64/5

Answer: ____________

39) Find the mode of the following set of data:

36, 36, 16, 16

Answer: ____________

40) 79.5 - 27.1

Answer: ____________

Total: ___ / 40
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Answers:

1) 27.84 2) x = 0.2 or -0.4 3) 32 4) 24 5) 24 6) 13672.211228423 7) 6.7298

8) 1878,7512,7510, 9) 123/4 10) 1000000 11) 14 12) 2616.9466804403 13) 1902.6578121144 14) 1902.6578121144

15) 15.3 16) 1200000 17) 50 18) 1000000 19) 27.7595 20) 29 21) 29

22) 9025in 23) 8 24) 3/25
25) (1d + 1)(d + 
5)

26) 10 : 9 27) d = 0.7 or -1.2 28) 114

29) 03 Hours 29 Mins 30) 3 31) 6231ft 32) 6231ft 33) 9 34) 11/3 35) 4272in

36) 373440 37) 9.2136 38) 5/6 39) 36 40) 52.4
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